A58  Answers to Exercises and Chapter Tests

50. (a) w/6 (b) (—V3/2,—-3)

51. (a) 7/3 (b (-3 —V3/2)

52. (a) w/4 () (V2/2,—V2/2) 53.(0.5,0.8)

54. (—0.8,0.6) 55. (0.5, —0.9) 56. (—0.6,—0.9)

SECTION 5.2 = PAGE 384

Loy, xy/x 2.1,1 3.t=x/dsint=V2[2cost=V2[2;

t=qf2,sint=1,cost=0;¢= 37w /4,
sint = V2/2,cost = —V2/2;
t=a,sint=0,cost=— 1;¢=5w/4,
sint = —V2/2,cost = —V2[2;t =372, sint = —1,
cost=0;¢t=Tm/d sint = —V2[2, cost = V2/2;
t=2m,sint=0,cost=1
4. t= /6, sint = %, cos t = V3/2;
= a/3,sint = V3[2,cost = %;
t=af2,sint=1,cost = 0;
t=2m/3,sint = \/_/2 cosf = —i;
t = 57/6,sint = 2, cost = \/_/2
t=ar,8int=0,cost= —1;
t=Twl6,sint = —4 cost = \/_/2
t=4m[3,sint = —V3/[2,cost = — %
o= 377/2, sint= —1,cost = 0
f=5mw/3,sint = — \/_/2 cost = 2,
t= 1lw/6,sint = =4 cost = V3/2;
t=2ﬂ',sint=0,cost— 1
5. () V3/2 () —-1/2 (©) —-V3
6. (@) 12 (b) —V3/2 (©) —V3/3
7. (@) 12 () —1/2 () —1/2
8. (@ 12 M 12 «© 12
9. (a) —V2/2 (b) ~VZ/2 (©) V2/2
10. (@) V2/2 () —V2/2 (¢ —V2/2
11 (@) V3/2 (b) 2V3/3 (o) V3/3
2.@12 ®2 ©~-V3 13.@ -1 B0 (©0
4. @1 O (©0 15 (@) 2 () —2V3/3 (02
16. 3 —V3/2 ) -2V3/3 (o) —2
17. (@) —V3/3 () V3/3 (¢) —V3/3
18. (a) —V3/3 () —V3/3 (© —V3/3
19. (@) V2/2 () —V2 () —1
20, (a) —V2/2 (®) —-VZ (@© 1
2. (@) =1 (1 (©® =t 22. @ -1 (® -1 (g1
23.@0 1 (©0 2. (a1 MO (00
25, sin0=0,cos0 =1,tan 0 = 0, sec 0 = 1,
others undefined
26. sin/2 = 1, cos /2 = 0, cot 7f2 =0, csc /2 =1,
others undefined
27. sinw =0,cosm = —1,tan 7 = 0, sec m = —1,
others undefined
28. sin 37/2 = —1, cos 37/2 = 0, cot 3w/2 =0
cse 377/2 = —1, others undefined
29. 33,3 30.4 -3 -4 —V11/4, V5[4, =V/55/5
32. —2V2/3, 1/3 2\/ 33, V13/7, —6/1, —V13/6
34. 209 35 L2312 36 2+5/55/5,2
375, -5 -5 38 ;5,32, —L 39, (2) 0.8 (b) 0.84147
40. (a) 0.7 (b) 0.69671 41. (a) 0.9 (b) 0.93204
42. (a) 0.3 (b) 0.28366 43. (a) 1 (b) 1.02964
44. (a) —3.6 (b) —3.60210 45. (a) —0.6 (b) —0.574382
46. (a) 0.9 (b) 0.88345 47. Negative 48. Negative
49, Negative 50. Positive 51. 11 52. Il 53. 0 54. II

55, sint = V1 — cos’s 56. cost = V1 — sin*t

57, tant = (sin )/ V1 — sin®t 58. tant = «@

cos ¢

59. sect = — V1 + tan’r 60. csct = — V1 + cot’s
Vet — 1
61. tant = Vsecr — 1 62 sint = —————t"=

sect
2 .2 i 2 24 0in 1= co
63. tan’t = (sin’¢)/(1 — sin’) 64, sec’tsin’s = 5
cos’,
65. cost = —% tant = ~%,csct:§ sect = —jcots =
66. sint = —3 tant=3,csct = —§,sect = —3 cott*~

67. sinr = —2V72/3,cost = %, tan = —2\/_,

esct = —3V2,cott = — V24

68. sint = — V17/17, cos t = —4V17/17,

csct = —~V17,sect = —\/i7/4,c0tt=

69. sinf = —2% cost=1%csct = —3sect =3 cotr=—
70. sint = —\/5/2,cost=%,tant= - V3,

esct = —2V3/3, cott = —V3/3

71. cost = — \/B/4, tan £ = V15/15, csct = —4,

sect = —4Vﬁ/15, cott = V15

72. sint = 4V17/17, cos t = — V17/17,

esct= V17/4,sect = — V17, cott = -1

73. Odd 74. Even 75. Odd 76. Neither 77. Even
78. Even 79. Neither 80. Even

81. y(0) = 4,y(0.25) = —2.828, ¥(0.50) = 0,

¥(0.75) = 2.828,y(1.00) = —4,y(1.25) = 2.828

82. (a) 87 mmHg (b) 827 mmHg (¢) 80 mmHg

(d) 73.9 mmHg 83. (a) 049870 amp (b) —0.17117 &
84. H(0) = 175 m, H(1) = 1504 m, H(2) = 100 m,
H(4) = 38.6 m, H(6) = 100 m, H(8) = 150.3 m,

H(12) = 588 m

SECTION 5.3 = PAGE 396

1. 1,27 2.3, 7
y ¥

RV




